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It is different there; - 9 FINTY KD NP KT 2N INW
for the verse reads. ‘It should not be seen by you’

Overview

The X713 cites the view of ¥2°7377 01 "1 who maintains that yan is X372 00
on 109, despite that the 7710 writes 2a8* X7 (with a 71% 7"2), which means
7R17T MOX according to both 72aX " 7. The X773 answers that 3"
derives the 7817 2n°7 by ynn from the word 2. Our N0 points out an
apparent difficulty with this answer according to 7°p17.

nooIN asks:

19 oya 89 290y 9aNs XY an9rYT AN
It is astounding! According to 171, the verse should state 228> X%, and
therefore the '1%' will not be required to teach x37 0.

Summary
mooIn questions; according to P, why write 22%° X% which indicates an

X117 0°R and then remove it by writing 7%. It should have stated 7580 K5.

Thinking it over
How can we answer M0 question based on a previous Md01N on 7" X,23
ynw 2271 (and the subsequent X713 of XN Xn*H)?

! 7mno 5"97 (meaning 2% &) instead of 7778 7"27. According to 7°pTn 92X X2 means only 79798 Mo°X and
not AR MOX.

? According to 172K "1 there is no question, for it makes no difference whether the 770 writes 7280 X9 or X2
958 in all case it indicates an 71X M0°X. However according to 7°p1n why did the 7710 choose to write X2
958> which indicates an X317 10X and then remove that MO°R by writing 7. It would have been more
expedient to initially write 380 X2 which would teach us only 77°3X M0°X and not 7X1;7 MO*X.

? Moo offers no answer. See “Thinking it over’ and n"Ix.

* See mmp Mx n"n 2"n.

> See (1R R"wn.
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